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Bookiet A {60 marks)

. One of them is the coirect answer. Make
2, 3 or 4) on the Optical Answer Sheet.

For each question from 1 to 30, four opfioﬁ
your choice (1, 2, 3 or 4). Shade the correg

Which of the following paris of the plant cell, A, B, C, D or E are ot'fdund in an. -
lan_imal cell? ,

. X Aand Conly
{2) Band D only

&) A CandEonly
4] B, Dand E only ) (

2, Which of the following-changes follow a cycle?
A: The change of tides.

B: The change of seasons.

C: The change from day to night.

8. A and B only
{2Y Barid C only
{3 Aand Conly o
&) A Baiid C - (
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3. The diagram below shows the female. reproductive system 'of a human.

At which one of thé'parts A, B. C or D of the female reproductive system does a spefm
“fertilise the egg?

A
¢:]
C

& D | | )

4. “The.reots of a plant are dipped inte a beaker of red-coloufed solution. The
diagram below shows the cross-section of the stem after a period of time.

Based on the experiment, part Y is likely to transport _

A: food
- B: water
C: oxygen

j’;‘l:)’\ B oniy

(3 Aand B only

~43} B and C only : -
M ABandC .
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Air contains a mixture of gases.

Which one of the following gases most likely remains urichanged in amount in

inhaled and exhaled air?

¥ oxygen

£ nitrogen

&) water vapour
carbon dioxide

The diagram shows part of the water cycle.

Rainfall

Process Q

Process P

Which one of the following correctly identifies P; Q, R and S?

Processes

State of water

P Q R S
#0) | condensation evaporation " gas liquid
(.3 evaporation condensation . fiquid gas
™ evaporation condensation | gas - liquid
£4) condensation evaporation liquid gas
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7. The diagram below shows 3.bulbs, A, B and C, connected to 2 batteries.

__[

Which of the bulbs will light up?

(X, Aand B only
“$2) Aand C only
B and C only

) A,BandC

8. Ttie diagram shows How biood flows in"a certain-part of the human body a few

hours after a meal.

Blood leaving.the

large intestine B Large intestine A

Blood entering the
. large intestine

Which of the following is true about the amount of oxygen, carbon dioxide and

water in the blood flowing in B as compared-to A?

Blood flowing in B has
)] more oxygen ~less carbon dioxide more water
(2) more oxygen more carbon dioxide less water
3) less oxygen more carbon dioxide | moré water
(4) less oxygen - ) i€ss carbon dioxide less water
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9. Eunice wanted to investigate whether seeds grow faster in the presence of light.
She used 2 similiF pats of g&#dein soil for her experiment.

Which other variables should Eunice confrol to ensure that the experiment was
fair?

A: The type of seeds in each pot
B: The number of seeds in each pot
. C: The amount of water given to each pot
- D: The location where the pots were placed

mA and B on!y

t2) Cand D only
TH.A, B and C oniy
M) A B,CandD

10. A seed is planted in‘the soil.

Which of the followung are reasons for the root of the haby plant to gmw out oft-
the seed first? - .

- A: To get sunlight
B: To absorb water

- C: To photosynthesise
D: To anchor in the soit
) A and.C only

(&) A and D only
X3} B and C only

}Q B8 and D only
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1. The diagram shows a cross-section of a part of a flower at a pamcutar stage
dursing-reproduction..

Y- OVU«\Qg

Which of ihe following best describes structures X and Y?

- Structure

X

Y

{n

A pollen after poliination but before
ferfilisation -

A seed after poliination and
fertilisation

(2)

A polien after pollination. but before
fertilisation _

An ovule after pclhnatton but before
feitilisation 5 .~

(3)

. A pollen before ﬁoltlnatlon but after

fertilisation -

A seed after poIl:natton and
fertilisation

(4}

A pollen before pollrnatlon but after
fertilisation

An ovule after pollmatlon but before
fertilisation
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12.  Study the classification chart below.

backbone

Animals without

|
'.

|

Body is made up Body is made up Body is made up
of three parts of fewer than three of more than 3
parts parts
One pair of legs in Two pairs of legs
Six legs Eight legs each part in each part
A B Cc D
Dyén found2 animals, P and Q,.inthe Qarden. as shown below.
Animat P Animal Q
Which groups, A, B, C or D, do the 2 ani}nals, P and Q, belong to?
o Animal P Animal Q
1) C ' A
2) C B
{3) D A
) D B .
' i (.
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13. In an experiment, Ryan filled a container with marbles until he could»n'otﬁiit*éi'—i‘;'_»
more marbles into it He said that there was no more-space in the container for
him to put anything into it. : : S

However, his friend, Samuel said that he waswrong:r.
How can Samuél prove that Ryan is wrong?

A: Shake the container of marbles.
B- Pour sand into the container of marbles.

" G: Heat the container of marbles with.a flame.
D:. Pour water into the container of marbles.

ﬁ) A and B only

B and C only

- >3).B and D only
& A, Cand D only
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14.  The small intestine and the large intestine are 2 long tube-like structures found in
the hurpan digestive system.. :

The table below shows the length of each of ther.

Small intestliie ' About6.7mto 7.6 m

Large intestine T © "Abaut 1.5 m

Why is the small intestine longer than thé: large 'iﬁ:tes‘tine?
A: Sufficient time to digest food completely.
B: Sufficient time to absorb water completely.

. . C: Sufficient time to absorb digested food into the blood.

{1) Aonly

{2) B and C only
{3} A and C only
(4YA,BandC

Page 8 of 36
P6 Sc Prelim 2010




15. Brian carried out an experiment with 3 similar bulbs andseme wires-of-the samelenigth
in the Science rcom. He also used batteries of the same voltage for. his experiment,

The table below shows his experimental results.

o Temperature of Brightitess of
Set-up Crrouit Science Room {*C) the bulb
A 30 Very bright
B 30 Not very bright
C 30 Bright

What hypothesis is Brian testing?

(1) As the length of the wire increases, the brightness of the bulb decreases..

(2) As the thickness of the wire increases, the brightness of the bulb decreases.

{(3) As the number of the batteries increases, the brightness of the bulb decreases.

(4) As the temperature of Science Room increases, the brightness of the bulb decreases.  (
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16.

John wanted to find out how long it would take for a pendulum to swing from A to
B and back to A again. He repeated the expenment with strings of different
lengths and bor sofdifferentmasses.

The labie below ShOWS the results of his expenment

L . N
N . "'-.‘\
L .
- stng——" T
. s I - B
Length of string Average time taken to complete 10 swings (séconds)
. (cm) 50g bob 150g bob - 200g bob

40 13.6 - 134 . 135
70 17.7 . 17.6 173
110 225 227 227
140 253 25.2 25.5

What sheuld be done to ensure that the pendutum complete 10 swings in less
than 13.4 seconds?

Increase the mass of the bob to more than 200g
Decrease the mass of the bob ta less than 50g

_F3) Decrease the length of the sfring to less than 40cm

&1 Increase the length of the string to more than 140cm
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17. 4 different magnetic materials, W, X, Y and Z, were lested to find'out which one
would be most suitable 6 be used as an electromagnet.

il

r\//\//\//'\/ o~

NI

Y
D
D

I e

p—— Material to be
tested

When the switch was closed, the material picked up some of the iron naits and
the number of iron nails picked up was recorded. ’ _

When the switch was openéd, some of thé iron hails fell off and the number of
iron nails left attracted to the material was recorded.

The table below shows the results for the 4 different materials tested.

Material | Number of iron nails picked up Number of iron nails left atfracted
w 50 ' ' 12 '
x- - _50 ' -:!-‘{».-,’ + e e
hd 50
[z 50

Which one of the materiéls, W, X, Y or Z, would be the most suitable. materiat as

an electromagnet?

nmw -
(2} X
Y
Mz

e Sc Prelim 2010
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18.

19.

P& Sc Prelim 2610

An astronaut weighing 700N: on Earth visited 4 moons, P, Q, R and S. He
recorded his weight on each of the meons and tabulated his results in the tabje
below.

NMaon Astronaut’s weight (N)

P 800
- Q 550

R 20 - 0
- 8 640

?ﬁ;\ / Am_bi\ XQ / T

If the astronaut exerted the same force in his attempt to jump on each of the
moons, which moon is he most likely to be able to jump to the greatest height?

(P

- (@Q

(3)R
(4)S

“On the planet Mario, which is very much like Earth, only 4 populatlons of

organisms.exist. They are Ambi, Fedo, Crivicand:Bot.
The following describes the characteristics of each organism:

'Ambi is the only herbivore.
Dot feeds on only Ambi,
Fedo eats both Dot and Ambi. -

Fedo is ‘an omhivore,
Crivi is the only food producer.

Which one of the following food webs best describes the food relanonship of the
orgamsms on planet Mario? :

Fedo m
Am

bi ————— Fedo

Ambl : Dot . /
Crnn — Crivi -

Crivi . Dot Dot «—————— Ambi

\" Fedo / i \ Crivi
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50. The graph below shows the population of 4 organisms, A, B,CandD,ina
particular food chain. These 4 organisms are found living in a garden habitat.

Number of prganisms.

I

A B c D
QOrganism

Which population, if decreased, will most liketf/ cause all the other three
populations to decrease-as well?

(A
@8
3)C
4D

21. The diagrém below shows. some vegetables:and Wi?éﬁﬁ growing together in-a
plotoffand. = . e .

vegelables

Which of the following are the vegetables and weeds most likely to be competing
for in the plot of land above? : S

_ .‘ water:
(Bxygen
(TOmineral salts
D) carbon dicxide

(1)} Aand C only

(2) Aand D only .
(3) B and D only . -
(4)A, B, Cand D
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22.  How do the plants in a pond community help the animals living there?

A: The plants provide shelter for the animals.

B: The plants are a food source for the animals.

C: The plants provide carbon dioxide for the animals to rhake food,
D: The plants break down dead organisms info simple substances.

(1) Aand B only
(2} A, B and D only.
{3) B, C and D ofily
(4} A, Cand D only

23, Jim counted the number of some organis,mé he found on a banana tree. His
results are shown in the graph below. '

- 14

12
o
E
A 10
-
&
5 8
° 6
@
a
E 4
3
=

. o

0 «
snails - spiders insect_".j;

"Organisms.

Based on the results shown in the graph, which qf the following statements are
definitely correct?

A: The banana tree is one communily.

B: There are 5 types of spiders on the tree.

L: There are at least 3 populations of animals.
D: There are 25 populations of animals in total.

t9BandConly
) Aand C anly
13) B, C and D only
“#4) A, Band D only
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24.  The diagrams below show 2 fish, A and B. ‘
Eish A is better adapted to escape from its predators than Fish B.

Which of the following describe adaptations that Fish A has which enable it to
escape from its predators better than Fish B?

A Larger tail fin
B Patterns on its body
C: Streamlined body shape
D: Position of eyes ondhe top of its head

(1) Aand B only
(2) A and C only
(3) B and C only
(4) A, B and D-only -

25.  Which of the following sjtuations are likely to be a result.of deforestation?

A Qi spilt
"B: Soflf erosion -
C: Global warming-. :
©; Extinction of animals and pests

(1) A, Band C only
(2) A, C.and D only.
(3} B, C and D only
(4) A, B,C and D only
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26.  The graph below shows the amount of different coloured lights absorbed by
chlorophyll during photosynthesis in plants.

Amount of
light absorbed
by chlorophyll
in plants

A ! : ' |
1

i d r i
violet blue green vellow  omfige red

h 4

Colour of light

- .2 plants, X and Y, were exposed to different coloured lights. A leaf.was then

plucked from each ptant and tested for starch. The results are shown in the table
below:

Results of lodine test ]
lodine solution remained brown.,

Leaf from.plant X

Leaf from plant Y

Iddine solution tumed. dark blue_- ' l

Which one of the following con:ectly identifies the coloured light that each:plant
was exposed to? . -

‘P6 Sc Prelim 2010

Colour of lights plant was exposedto
Plant X Plant Y

1) Red Blue

2) Green Red
(3) Red Green
L (4) Blue Yellow
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27. A bimetallic strip is formed whentwvo different metals afe joined together.
' 4 metals, A, B, C and D, wete used in différent corfibinations 1o form four
bimetallic strips.
The diagrams below show how each strip bentwhen heated equally for &

minutes.i’ !

_ Metal A

Metal B
Strip 3

Metal A

N Metai C

Strip4

Based 'oﬁ the information given above, which one of thé fo![owing_,féhoﬁfié,}rgetgls
A, B, C and' D, arranged in the correct order, based on how much the metal hiad

expanded? : :
— —3 . :Expanded least
ay c -~ |D
(3). A D
(@) c :
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28. 2 pieces of wood are gltied together. Thiey are then placed between a torch and
a screen as shown below.

Two pieces ofwood

) ' of different shapes
i are glued together.

torchr

screen

The 2 pieces of wood are of different shapes as shown below.

3cm

hd

A

Which of the following shadows can possmly be formed on the screen when the
torch is switched 0n7 ) :

u'A .-

(1) A and B only
{2} A and C only
(3) B and D only
{4) C and D only
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28.  Ken positioned a wooden ruler between a screen and a torch as shown below.

@ﬂ L sereen

torch

wooden ruler L

He then followed the procedure as listed in the steps described. .

Step 1: Switch on the torch : o

‘Step 2: Measure the height of the shadow of the-tuler formed on the:screen:

Step 3: Move the ruler 5cm closer to the torch. <~ " - S

Step 4: Measure the height of the shadow again. - - T

Step 5: Repeat steps 3:and 4 two more times, moving the ruter another Scm
‘closer to the torch each time.

k)

Which one, of the following hypothesis was he investigating?

(1) The brighter the light sotirce is, the darker the shadow formed.
{2) The further the light source is from the object, the sharper the shadow formed.
(3) The neater the light source is to the object, the brighter the shadow formed.

- {4) The further the light source is.from the object, the smaller the shadow formed.

Page 20 of 36
P6 Sc Prelim 2010




30 The diagram below shows a catapult which is used to shoot a pebble at a target
located 3m away.

prongs

pebble

catapult handle -
elastic band

How can the speed of the pebble be increased without:-replacingthe:elastic

. A Use a pebble with a shinier surface
3. Useapebblewith a smaller mass
'€ Stretch the elastic band further back
£ Use a catapult with a longer handle

(1) Aand C only
{(2) B and C only
(3) A, Band D only
(4) B, C.and D only

End of Booklet A

e
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Bc_}oklet B {40 marks)

..........

Wite your answers to questions 31 to 44 in th-e-éf["')éc_:eé given,

31. The table below shows the freezing points and boiling points of 3 substances, X, Y

and Z.
Substance Freeziﬁ‘gi-;bgint (°C). Boiling point (°C):
X 29 678
Y 17 ' 18
z 7 ) 59

a) What are the states of substances, X and Y atZOfCa‘ : (1m)

Wiite your answers in the boxes of the table below.

Substance |. State of s;_ubstance
X
Y
b} Other than having mass.and occupylng space, state anotherproperty of (1m)

substance Z when it is at 100°C.
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32. Xisa chemlcai Sirmlar to. the dlgestweajmee in the human drgestme system.

Kelly wanted o studyzth X ffec:tof Chemicai ¥-on-cooked-and raw minced meat.
She used 2 similarpetddishes; A: and B, for herexperiment. -
The items in petri dishes, A and B, are shown in the table below.

Petri Dish Cooked/raw minced .| Amount of minced Amount of
meat . . . meat {(g) Chemical-X (ml)
A | - cooked- 30. .15
) B ' ‘raw 30 ,7-‘ .15

'a') Give'afeason why the amount of minced meat should be kept the same to
ensure that the expenment was fair.- - '

by In the investigation, the meat is minced at the start of the experiment,
Similarly, food is chewed at the start of digestion.

Explain why this is necessary.

{2m)

{1m)
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33.  Lydia conducted an experiment io-find outifthe exposed surfate aiea:of'a-contdiner
wili affect the rate of evaporation. She used 2 containers, A and B, made of the
same.matedal: The experiment was eenducted-inranundisturbed-gpen fisld:for a
period of & hours. The amount of waterleft-after each houris measured.- . -

_ The experimental results are shown in the graph below.

100
90 -
80
70 -
Amount 60 -
of water -
left 50 - igontainer A
(M) 4o L= ' -ﬁf?gqfalner B

st 2nd 3rd 4th  5th  6th
* Time(h) ‘ "

a), Besides keeping the amount of water in each container the same, state another  (7Tm)
© 'vafiable-that should be kept thie same in arder fot. the. expeériment to be fair.

b)  Which container has a greater exposed surface area? Why? (1m)

c}  Dunhg which hour was the temperditure of the air }n the open field likely to be™ < (1m)
: the highest? Give a reason to support your answer.
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34. Joshuzfound out from his mother that charcoal can-absorb smell in a-refrigerator.
He decided to cairy out an experiment to-find cut if this:is true:
The diagrain below shows his.experiment sefup.

styrofoam
box with lid

ﬁsh\’.

- charcoal

dry ice

After a.period _‘c')'\f'.ﬁ'rrie‘, Joshua observed and corgluided: that charcodlabsorbs the

smell from the fish. However, his tlagsinate, Ericsaid thatlestiuaileeded another
setup in order to. maketan accurate.genclusion.

a) Explain why there was a need for the other setup. ; ‘ (2m})

b} Tick [V} i ihie appropiiate boxes below to show what Jostwa shouid use‘in thet.  (1m)
other.setup _ggnentimned;ir_r- (a). .

Item

Styrofoam box with lid

Dry ice

Charcoal

Fish-
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35.  Ali carried out an-expériment tta:—intrestigaie-thé-ehangé i themass’ of potted.plants:
with damp garden soil over:a fixed period-oftime. ‘He used 2 similar well-watered .
potted plants, A and B, which were wrapped with clear plastic bags for his experiment
as shown in the diagram below. ’

clear
plastic
bag
. i Smear oif on the upper
Smear oil en the upper S
A _surfaces of all the leaves B . and lower surfaces of all
S - o ttie leaves
a) Which potted yla/nt experienced more change in mass? {1m)
i C: I¥]
Give,a rdason to your answer in (a). . {1m))

v

in‘dnotheréxperiment, Ali smeaied ol to cover the uppey surtaces of all the

leaves of a water lily plant as shown in the diagram below.

After some time, the water lily plant died.

Explain why this is so. - ' (1m)

L
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36. The diagrams below show the lungs in the human and the gills in the crab. They help
the 2 organisms to breathe. . _

T

air sacs

Diagram A — Enlarge view
of part of the lung

feather-like
structures

Diagram B — Enlarge view -

" of part of the gill
a) State a difference in the gas that the lungs and the gills take in. ‘ (1m)
b) . Describe one similarity in the way $tructures in Diagrams Aand Bworkto (1mj

maximise gaseous exchange.
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37. Bensetupthe followihg experiment to find aut which materiai, P, G or R conducts
electricity. He closed the switches, one at a time and observed whethier the bulb
lighted up.

th

He recordéd.the .éiggﬁmehtal results in a table as shown below. -

Material Bulb Iigﬁts up .
P Yes .‘
Q Yes |
R _ Yes

a) Using apprﬁpriaté éymbols, draw a circuit diagram of the experiment in the box

below. : (2m)
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'

’

b)- Whatis the purpose of putting.a bulb jn the experiment?

(1m)

In anotlier experiment,-hé bfought a magnet cIos‘_e to each of the materials, P, Q and

R and observed which one of them would be ‘attracted toif.

Again, fie recorded ’;he'exgefirheqtq]3—g§sults in a table as shown below.

M_ag'rié_t'-.é‘t_ifgcts: The

~ Matedal. - material.

P

Yes

Qs

No‘.

Yes 7.

©) Based on thé aljov‘e-fex'péfimé"ﬁié’; what can yéu.cohél'ﬁdé- about-the-likely

relationship between a conductor of electricity and its magnetic property?

{1m)
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38. - Mary conducted an experiment.lo ihuestigate the effect of forces applied on four .

different springs, A, B, C and D, before and aftera-200g welght was hung onto each
of them. The graph below shows the resuits,of herexperiment. : '

Length of Lol o : .
springs / cm : T BEROER
150
100 __ _—_-_,_"_,E
50 =
0 A | 5 B E M =] X At
B e O B
. Springs
@ Length of original spring '
= Length of splr’lng wher, 2009|'shung” .
a)  Based on the graph above, which Spﬁng, A, B, Cor D, possesses the most (1mj

elastic potential energy when'a 200g weight is hung oniit?
Explain your answer. .

b)  Whatis the extension of Spring B when a 100g weigﬁt is hung on it? (1m)

‘ - % Page30o0f36 ‘
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38. Sue classified the orgamsms D, E, F and G, which are found on a lime tree in a chart
shown below.

Organisms found on a lime tree .

‘Herbivore | ~ Carnivore
feed on leaves - feed on fruit feed on feed on spider
I — I insect .
D ' 1 E
: F G
a) Based on thie chart, explain why the dlfferent organisms do hot.need to (1m)

compete for foqd in this habitat;"

b)- Sue observed the feeding hablts of D, E, F and G, and drew a food web. In the {1m)
food web shown below, fiil in the boxes with the words ‘lime tree’ and Ietters D,
E, and G, to represent the organisms in the food web.

N

S

c) If the population of G decreases over time, what is the most immediate effect {1m)
likely to-be observed in this community? Why?
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40. 3 plants P, Q and R, are found along a river bank as shown below in Figure 1.

“ Figure 2 below shows the iocation of the

year later.

direction of
river flow

Figure 1

young piants relative to their parent plants a

direction of
river flow

Figure 2

a) Based on the diagrams shown, identify the methods of dispersal for [;';iants P, {1m)
QandR. IR : b
Plant Method of dispersal
@) P i
i} Q
(i) R

b}  Describe two possible ddaptive features of plant R which enabie it to disperse (1m)
its young plants as shown in Figure 2.

(D t

_{i}

¢)  Explain how the young of plant R has an advantage over the young of plant P. 2m

P§ Sc-Prelim 2010
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41. Billyuses an electrical hot plate to heat two.beakers of water, Xand Y, fo 100°C.

hot plate

- Beaker X Beaker Y
Volume of water (ml) 50, 80
- Temperature of water initially before heating (“C) 39 g 29

Based on the information above; put a tick () i the approprisite boxes fa indicate
whether the statements are ‘True’, ‘False” or “Not possible to tell’.

(2m)

StafemenAt-SA .

_ True | False

Not
possible
to tell

=~ |30 minutes before Beaker Y:

a} .| The water in- Beaker Xowill reach bcnlmg pomt )

b) - | The water in both beakers has the same
- | amount of heat ehergy before heating.

c) | Electrical energy is converted to heat energy
when the hot plate is switched on.

d) | More heat energy is required to boil the water
in Beaker Y than in Beaker X.
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42. 3 blocks of different weights, T, U and S, were pulled up the ramp of 3djfferent set-
ups as shown below. The surface of the ramp for set-up 1-was smoothihile that of
the other set-ups were rough.

&
N - o o
T roTJgh surface .
‘sm_ooth surface p fough surface
400 - 60° 49

Set-up1 7 Set-up 2 Set-up 3

a) The force used to] Bibek was &N RarK iRe blocks T, U and S according  (7m)
to their weights;"staiting from:th& tieaviest to the lightest. .

b) Block S was placed on another surféce W inclined at 40° as well. However, a (2my})
force of only 4N-was required to pull it up the ramp.

Explain why less fofee'is réquired 'to movis block S up siface W
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43. 2 similar glass jars, X and Y, which contained 100g of soil.each, were placed under
the Sun next to each other. Jar X was covered with a lid while jar Y was left open.
A thermometer was placed into each jar and the temperature of the air inside each jar
was measured at hourly intervals for 3 hours. ' ’

The table below shows the temperature readings of the air in the two Jars.

Temperature | . . Temperalure (°C) at different times
reading 10am 11am 12pm . fpm
Set A . 30 32 39 45
SetB 30 33 37 - - 40

thermometer _ / . \

\

soil

JARX JARY

a) * Which set of readings, A or B, will most likely represent the temperature of airin  (2m)
jar X? Explain your answer.

H) Identify a gas on Earth which behaves in a simitar way as the lid covering the jar  (1m)
and explain how it is similar.
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44,

David wanted to find out how the intensity of light source affects the rate of ,
photosynthesis of hydrilta plants. He placed an inverted test-tube containing water
over another beaker of water with hydrilla inside a funnel, as shown in the diagram
below..He then placed a bright light source at a distance o away.

test tube
P beaker
water
Light source
d— hydrilla ‘ ‘ I
funnel ] | I [ _ —

&

Distance between fight source and beaker, d

After 20 minutes, he counted the number of bubbles p%oduced by the hydrilla over 30
seconds. He repeated the procedure five more times, increasing d, the distance
between the light source and the beaker.

He recorded his observations in the table shown below. -

Distance of light source from beaker, d (cm) | Number of bubbles produced in 30
. A ‘ seconds
10 : ‘ 55 -
20 - S 47
i 30 N - - H ,-. 33 N
40 ' 28
50 . . ) 14

a) - ldeniify the gaé.i_n-‘the bubpigs produced.

'b)  Besides the equipmeént shown in the diagram above, fist two other varigbles

which he must keep the same to ensure a fair test.

(i)

".(iiJ

¢} What can David coriclude from the resuits of his experiment?

End of Boaoklet B

Setters: . Mr Tan Joo Nam

P6 Sc Prelim 2010

Mrs Seow Jian Jian

(1m)

(1m)

{(1m)
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31)a)X: Solid  Y: Liquid
b)It has no definite volume.

32)a)Ari10unt of minced meat will also affect how much of the meat digested.
b)It is to increase the surface area for the digestive juice to interact with
the meat. )

33}a)Temperature of water at the start of the experiment.
- b)Coéntainer A. After each hour, the water left in container A is lesser than
container B. So container A has a greater exposed surface area.
¢)4™ hour. The difference in the amount of water left is the greatest.

34)a)The other set-up was a control to allow comparison and ensure that it
was the charcoal that absorbs the smell of the fish.

b)
- Ibem
Styrofoam box with lid +
Dry ice ¥
Charcoal
Fish o R .
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35)a)A.
b)There are still stomata found on the underside of the leaves and water
can stiil escape out of them. ,
c}Stomata mostly found on the upper suifaces are covered with oil and
s0 ,it0 gaseous exchange can happen.

36)a)The lungs take in atmospheric oxygen wihiile the gllls take in disscived
OXYgen.
b)They both have enlarged suiface area for gaseous exchange.

37)a)

b)It is to test if the material is a conductor of electricity.
: c)All materials does not have to be magnetic to be a conductor of
electricity.

38)a)D. When a 200g weight is hung, the extension is Ionger than the other
springs.
b)25cm.

39)a)They all feed on different instead of just one food source.
b)

ey
== |

E

c)Population of F will increase. G is the only predator of P.
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40)a)i)splitting iijwater  iii)wind
b)i)itis light ii)It has wind-like structures.
c)It will not compete with P for water and nutrients.

41)a)Not b)False c)True d)True

42)a)T, S, vV
b)Surface W woiild have less frictional force than surface S and surface W
is smoother.

43)a)The jar with a cover lid traps more heat as the heat cannot escape
quickly. ’ '
b)Carbon dioxide. It traps the sun’s heat on earth.

44)a)Oxygen.
b}i)Amount of water.
iiJAmount of hydriila. ,
c)The greater the intensity of light, the greater the rate of photosynthesis.
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